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Ques # :1

If A is the set of english alphabets and B is the set of all Consonents , then
number of elements commontothesets AX Band B X A is

1) 24
2) 217
3) 267
4) 5?

It A U ST aUTHATET T T §,duT B Tl el &1 §Head B, a W
A X B3R B X A § Fwwafacs sagar & @& &

1) 721
2) 212
3) 267
4) 52
Ques # :2

If Ais a set of prime numbers less than 50, and A € B, n(B) = 9, then number of

elements in AUB is

1) 16
2) 15
3) 144
4) 9

i A UF 50 ¥ HH FHT G & G99 § IRACSB,n(B) =9, arAUB &
agdr ol TET &

1) 16
2) 15
3) 144
4) 9

Ques # :3


Pankaj
Typewriter
II Gr. Tea (Spl Edu) Exam 2015


If(1+i)" =2", then value of nis
1) 1
2) -1
3) 0
4) any real positive value

gig (1+4i)"=2",din &1 A &
1
2) -1
3) 0

4) S areatas UATcHS Al

Ques # :4
1+2isind | .
— isreal, then general value of 8 is
1-2isiné
D nm — E
2
2) ni
3) ni
2
4) T
nmw+ —
2
1+2isin @
Ife ———— ardids £ a1 0 &1 93T A4 £ -
1—2isin @
D nmw — z
2
2) nim
3) nim
2
4) T
nm+ -
2
Ques #:5

If 5*" term of harmonic progression is 7 and 7*" term is 5, then 35" term is
1) 0

2) |

3) 1/35



4) 1/12

IR AF AM FT5aTag 78 3R 7aTag 5 8, ar35atuc & -
1) 0

2) 1

3) 1/35

4 1/12

Ques # :6

If G is geometric mean of a and b, then value of e

1) ab

2) 2ab
3) 1/ab
4) 2/ab

a‘ﬁaaﬂTbaﬂgvﬁaTmmG%.a‘rﬂzl_a2+

1) ab
2) 2ab
3) 1/ab
4) 2/ab

Ques # :7

If the roots of the equation x% + x + k = 0 are real and unequal , then the roots of the

equation x? — 41,@ x4+ 1=20are

1) real

2) rational

3) irrational
4) imaginary

I FHEOT x2 +x + k=0 % AT aEddS AR FAAW ¢, Al TET
x*—akx+1=0% He § -

1) arEdfas
2) oA
3) HIRAT

4) Freqfadh



Ques # :8

k k+1
If real roots of the equation ax® + bx + ¢ = 0 are . and . where ke [R — {0,1}],

then sum of squares of a,b,c is

1) b* — 4ac
2) b
" a
3) ¢
a

4) b 2c

_—_|_—

a a

k k+1

e THIROT ax® +bx +¢c =0 a?aﬁﬁﬁqﬂﬂﬁmT & . o6l
kelrR—{01}], dr a,b,c & T3l &1 AWT -

1) b* — dac
2) b
" a
3) £
a
4) b 2c
_—_|_—
a a
Ques # :9

the sum of all divisors(leaving 1 and itself) of 960, is -

1) 3047
2) 2180
3) 2087
4) 3087

960 % T TSI (1 TT TIT Y BIFHT) FT I §-
1) 3047
2) 2180
3) 2087
4) 3087

Ques # :10

the letters of the word 'sachin' are arranged in all possible ways and these words are written



according to dictionary, then in which place the word 'sachin' occurs?
1) 602
2) 603
3) 600
4) 601

I 'sachin' 2reg & 7RI &1 T grafaa alil ¥ cqafud HY TUT 3T AT FI YsEHIT &
FATTAR ford al 'sachin' A FHieT & FATeT IT AT 2

1) 602

2) 603

3) 600

4) 601

Ques # :11

If x = 1/3 then which term is greatest in the expansion of (1+3x)*%®?
1) 51" term

2) 50t term

3) Last term

4) First term

AG x=1/3 8, df (1+3x)®° & [GFdR # Flaar 9g FArHdA &-
1) 51afug

2) 50 af ug
3) dfcaa ue
4) TUH UG
Ques #:12

The coefficient of x? in the expansion of (20x® — 9x + 1)t is

1) 20
2) 20
3) 60
4) 61

(20x% —9x + 1)7! F TAEAR F x? & IOIF -

1) 20
2) 20
3) 60

4) 61



Ques #:13

1+ x 1 1
if| 1 1+ x 1 | =0 ,then values of x satisfying this equation are
1 1 1+ x

1) 0,1,3

2) 0,1,-3

3) 0,0,-3

4) 0,0,3

1+x 1 1 )
afg | 1 1+4x 1 | =0, d 38 GHEOT F G5 F drdd x & A
1 1 1+x

&

1) 0,1,3
2) 0,1,-3

3) 09 09 _3
4) 0,0,3

Ques # :14

if a is a non-singular square matrix of order n, then adj(adj a) is equal to :
D [Al"A

2) [Al*A

3) IAI n+1A

4) 1a[*?A

IR 2 T n FH H FehAUNT Tof AReTd ¥, A adj(adj 2) R E:
D [al"A

2) [al™*A

3) |1|51|1'1+11|51

4) |A[" %A

Ques # :15

iftan@ + cotd = 1, thentan®# + cot® A is
1) 1
2) -1
3) 6



4) 6

If¢ tanf + cot@ =1, df tan®8 + cot®8 &-

1) 1
2) -1
3) 6
4) -6
Ques #:16

let z = x 4 iy is a complex number in which x and y are integers, Area of rectangle,

whose vertex points are given by the equation z Z * + Zz® = 350, is as follows —

1) 48
2) 32
3) 40
4) 80

HET z =x + iy Uh UHT A GCIT ¢ T9@A x ar y qUlis g | 39 3d
I &FAhel foras o fdg @eRor z2z * + 222 = 350 & #Hef g, &+ &-

1) 48
2) 32
3) 40
4) 80
Ques # :17

For0 < @ < m /2, the solution of the equation
m=a

Z cosec (9 + m4— 1?1) cosec (S‘ + %n) =42
m=0
is—
1) T
4
2) TC
6
3) T
12

4) none of these



0<8<m/2 F ®U FHERLOT

m=é
m—1 m
Z cosec (6’ + 2 TE) cosec (E‘ + ETE) =442

m=0

12
Y A AR A
Ques #:18

In atriangle ABC, 2C = 90%and 48 = 2A — £B then tan A equals —
1) 2(tanf +tan B)

2) (tanf +tan B)
3) 2tan @ + tan B
4) tan# + 2tanB

fr3gst ABC & 2C = 90°3R £0 = £LA— /B ot tanA SR § -
1) 2(tan@ + tan B)

2) (tanf + tan B)
3) 2tan @ + tan B
4) tan# + 2tan B
Ques #:19

The period of sin (L) & + cos (i) g is

D 2n(n-1)
2 2n(m-Dm
3)  4n(n—-1)

Y Anm-Dx

sin (L)S + cos (“)9 I HTddHTIeT g-

n—1 n



) 2nn—1)
2 2n(n—Dm
3)  4nn—1)
Y Anm-Drm

Ques # :20

If sides of a triangle ABC are in A.P. then ‘Ef;m;—fl , tang , tang arein

1) a.p.
2) g.p.
3) h.p.
4) none of these

ﬁaﬁABCﬁWWﬁvﬁﬁ%a’rmng , tang, tangﬁﬂ:r’?lﬂﬁﬁ
¢ |
1)

AT Aoy
2) TR Aofy
3) gIcH Aol

4) SoTH A RIS G |

Ques # :21

ftan ™ 2x +tan"13x = 45, then x is

1) -1/6

2) 1

3) 1/3

4) none of these

e tan '2x +tan"'3x = 45 , @l x & -

) -1/6

2) 1

3 13

4 AT PSS AT

Ques # :22



The value of p for which the sum of the squares of the roots of the equation

x2—(p—2)x —p+ 1= 0is minimum , will be —

1) 2
2) 3
3) 0
4) 1

p @ dg AW foras fow e x> — (p—2)x—p+1=10 & HeAl & 3T &l

AT #ATH &, BIT-

1) 2
2) 3
3) 0
4) 1
Ques # :23

the centroid of the triangle formed by x +y-1=0 and xy =0 is
1) (2/3,2/3)

2)(0,2/3)

3) (1/3, 1/3)

4) (0, 1/3)

x+y-1 =03mxy=ﬂﬁmmﬁﬂﬁﬂm%-
1) (2/3, 2/3)

2)(0,2/3)

3) (1/3,1/3)

4) (0, 1/3)

Ques # :24

incentre of triangle formed by x + y =2 and xy =0 is
D(2-+v2,2-42)
2) (242 ,2+42)

A2 22

4) 1 1
(1 +— ,14+— )

42 42

x+y=23ﬁ'{'xy=0@'mmﬁ'ﬂﬁ'ﬂmzmg-
D(2-v2,2-+2)



2) (2++2 ,24+42)

1 1
3)(1——,_ ,1——,_)
2

V2 v
4) 1 1
(1 +—=,14+— )
V2 V2
Ques # :25

Angle between the lines 3x + 2y = 1 and 3x — 2y = 1 is given by
1)

tanf = —
3
2

) tanf = —
1

3) 8 3
tan— = —

2

4) 7] 3
tan— = —

2 13

[T 3x + 2y = 13 3x — 2y = 1 & Fey o7 GAr S1am § -

1) 3
tanf = —

13

2 5
) tanf = —
3

3) g 3

tan— = —

2

4) 7] 3
tan— = —

13

Ques # :26

Area of the parallelogram formed by the lines

v=5x,yv=5x+1,y=4xand y=4x +1is

1) 9 square units
2) 20 square units
3) 1 square unit

4) 25 square units



WHT y=5x, y=5x+1,y=ax 3N y=dx +1 A ToIo aTel TAWH

EGEEIEINAEE

1) 9 gt SHE
2) 20 9T SIS
3) 1 991 SIS
4) 25 93T SIS
Ques # :27

if the point p(x ,y) is equidistant from the points a(a+b , b-a) and b(a-b , a+b), then p lies on the
straight line

l)ay-bx=10

2)ax-by=0

3)ay+bx=0

4)ax +by=0

afE g p(x ,y), Rega aa+b , b-a) 3 b(a-b , a+b), F FTAGH WE, A p Flerelt 7 Y@T W ua
g2

I)ay-bx=0
2)ax-by=0
3)ay+bx=0
4)ax+by=0

Ques # :28

If the point (x; + t(x, — x;), v, + t(y, — ¥4) ) divides internally the line joining the
points (xy ,vy)and (x;,v,), then

1) t<0
2) t=1
3) 0=<t=<1
4) t=1

afg [egail (x; ,yy) T (x,,y,) @ FHAcm arelr ar & fg

Gy + t0x, — x0) vy + tly, — vy) ) 3oc: T@aoid ar &, dr -

1) t=<20
2) t=1
3) 0=<t=<1

4)



Ques # :29

if two points a and b lie on the line 3x + 4y + 40 = 0 and equidistant 10 units from origin o, then the
area of triangle oab is

1) 40 square units
2) 80 square units
3) 120 square units
4) none of these

i At Rega 3 b, [T 3x + 4y + 40 = 0 W YT & T 7 Reg o FHAT R 10 gFE R AN
ﬁ'ﬂﬁoabﬂﬂ?«l‘ﬁ'%-

D 40 asv zars

2) 80 g7 3HTS

3) 120 g TS

4 goT & S A |
Ques # :30

Angle between the two tangents from origin to the circle x% + yz —14x +2y +25 =0

is-

1) 0

2) 30°
3) 45
4) 90°

gd x® +y?—14x + 2y + 25 = 0 W Aol Tdoq & @il 715 a1 T92f (@B &

e FHIT § -

1) 0’

2) 30°
3) 45’
4) 90°
Ques #:31

Foot of the normal to the parabola x* = 4y which is perpendicular to line of slope 45 is



1) (2,1

2) (1,2)
3) (-2,1)
4) (1,-2)

WaerT x? = 4y & AfSeFT & 9Ig, S 457 IGUIAT T {W@T & oFFad & L6l -

1) (2,1
2) (1,2)
3) (-2,1)
4) (1,-2)
Ques # :32

If a straight line ax + by =2 ,a,b # 0is tangent to the circle x? 4 jv‘z —2x =3 andis

normal to the circle x?2 +jf2 — 4y =6, thena ,b equal to—

1) 1,-1
2) 1,2
3) 473, 1
4) 2,1

G @M ax+by=2,a,b=0 Td x> +y? —2x =3 H TR Fdl & aAT ad

x2+y3—4y=6ﬁﬂaﬁﬂﬁ?.ﬁbfa,ﬁwgk'

1) 1,-1
2) 1,2
3) -4/3 1
4) 2,1
Ques # :33

Length of transverse axis of hyperbola 4(x — 1)% — ‘9}?2 + 36 =0is
1) 4

2) 6
3) 243
4) a2

AR 4(x — 1)? —9y? + 36 = 0 & e[IEY HaT T Trars § -
1) .

2) 6
3)



4) 42

Ques # :34

Locus of mid-point of normal chords of rectangular hyperbola x% — yz =1is

1) x? —yz = 4xy

2) yz —x%= dxy

3) y? —x? = (2xy)?
4) y2—x?= [Ex}})%ﬁg

HIATRR fARAed x* — y? = 1 & oFaad ohaisit & A fdeg @1 fdeg 9o

g -

) x? —yz = 4xy

2) yz —x% = dxy

3) y? —x? = (2xy)?
4) yz - [Exy}zfé
Ques # :35

If A(-1, 3, 2) , B(2, 3, 5) and C(3, 5, -2), then AABC is
1) equilateral triangle

2) only right -angled triangle

3) only isosceles triangle

4) isosceles -right angled triangle

qG A(-1,3,2),8(2,3,5) 3 C(3,5,-2), df AABC & -
D gararg feget

2)  Fae gAHTT e

3) Fad {-Id-lc\:l-asllg EEE)

Y gefaag gamy s

Ques # :36

the image of the origin in the planex+y+z=11is

(1,1, 1)



2) (1/3, 1/3, 1/3)
3) (2/3, 2/3,2/3)
4) none of these

FHA x +y + 2 = 1 F TIET H{A feg, #1 wfafera faeg @

(1,1, 1)
2) (1/3, 1/3, 1/3)
3) (2/3, 2/3, 2/3)

4) g1y & S LT |

Ques # :37

1
. 1+ 5x2\**
o 1+ 3x2

is

1) rational number
2) irrational number
3) integer

4) none of these

1

. 1+ 5x2\»?
P 1+ 3x%2
g_

D) ofdw der

2) 3@ gea

3) qufte

4) g A P 7 |

Ques # :38

If siny = (1 + x) sin(1 + y), then g is
1) sin(1 + y)
2) sin?(1+ y)
3) sin(1 + y)
siny



4) none of these

g siny = (1 +x)sin(1+y) , @ g .

D sin(1+y)

2)  sin*(1+y)

3)  sin(1+y)
sin 'y

YD AR A PS

Ques # :39

1—+/x

lim s —
x—=1 COS X

1) 1

2) 12

3) 1/4

4) 0

1—+x

lim ——— & —

x—1 COS X

1) 1

2) 12

3) 1/4

4) 0

Ques # :40

g~ laxl .
The function y = —— ; aeR™ is
il

1) continuous and differentiable everywhere

2) continuous everywhere but not differentiable everywhere
3) continuous and differentiable only at x=a

4) none of these

—|ax|

Telel Y = - - aeR* &

a2

1) §&7 gad 3 3@
2) g&7 a@ad o] HIT Taeholei g w16




3) &ael x= a W Tdd U dFele

4) g | S AL |

Ques # :41

If f+R - Rand g: R — R be two Continuous functions , then

mf2
f [F (@) + F(—0g() — g(—)]dx

w2
equals to—
1) T
2) 0
3) 1
4) none of these

afe f:R > RdWMg:R > R & Tdd el & , dr

mf2
f [FG) + F (=090 — g(—x)]dx
—mf2

e &

1) T
2) 0
3) 1

Y A ARE
Ques # :42

The function f(x) = Max{(a—x),(a +x),2a}; aeR"is
1) Continuous everywhere

2)  Differentiable everywhere

3) Differentiable at |x| = a

4)  Not differentiable at x = 2a

wed f(x) = Max{(a —x),(a +x),2a}; aeRT §
1) @dx gad
2)  gEF saFeE



Dyl = ¢ W IEFET
4)  x=2a W dhclEid gl

Ques # :43

. dy .
If x = sin lg),then—ym
dx

1) xsinx+y

2) xx2—yi4y
<) J

I.-xz_,i}z_,_“_
v - X

4) xcosx+y

Zlﬁ:vr::sin‘l(f) a2y
1) =xsinx+y

2)
3)

-
xjxt—yi4y
y
\';xz _ }}2 + =
X

4) xcosx+y

Ques # :44

The critical points of the function f(x} = x? log x in the interval [1, e] are

1) I,e

2) 172, e/2

3) only e

4) none of these

Held f(x) = x%logx & HedTel [1, €] ﬁﬁﬂmﬁﬁzﬁ—

1) I,e
2) 1/2,e/2
3) $hdd e
Y waFsa
Ques # :45
. e(1—e¥ 1) d2y

fy =——— then——=atx=20is
}' x ! dx?



1) e
2) 1
e
3) 1!82
4) o2
_a¥—1 2
EI’E _e(le ) ,a}x:{]q_{d_i’%__
x dax
1) e
2) 1
e
3) 1‘{62
4) g2
Ques # :46

The function f(x) = x* is increasing when

1) 1

X =>—

e

2) x>e
3) x=1+4e
4) 1
x=1+-

e

Helel f(x) = x* deIdAE ¢ odis

1) 1

X =—

e

2) x>e
3) x=1+4e¢e
4) 1
x=14—
e

Ques # :47

The Rolle’s theorem is applicable in [0, 1] for the function f(x) = x™logx; f(0) =0,

then m is



1) 0

2) 1/2
3) 12
4) -1

Had f(x) = x™logx; f(0) = 0% ol el 9T [0, 1] ﬁ?ﬂ?‘ﬁ%ﬁm E -

1) 0

2) 12
3) -1/2
4) -1
Ques # :48

The slope of tangent to the curve vx (14 x%) 4+ x° =y at (1,3)is

1) 10
2) 8
3) 6
4) 4

a® x (1+x%) +x° =y @ @eg (1,3) W T {@r $7 99orar § -

1) 10
2) 8
3) 6
4) 4
Ques # :49

y(x) = J(1 4+ 2x +3x*+ ..)dx; v(0) = 0, then y(x) is

1) 1
1—x

2) x
1—x

3) 1
(1—x)?

4) X
(1 —x)?

}J[x:} = fl:l + 2x +3X2 + }dx, j?[U) =0 (_‘ﬁ j’(x) %- -
1) 1

1—x




2) X

1—x
3) 1

(1 —x)?
4) x

(1 —x)?
Ques # :50

if y = [log x.logx dx satisfies (1, 2), then

H vy
——2=logx (logx +2)
X

2) ¥

) —+2 =logx (logx +2)
x

3 Y
——2 =logx (logx — 2)
x

4) V

—+2 =logx (logx — 2)
x

qG v = [logx.logx dx =l (1,2) HdsC g . dr

n vy
——2=logx (logx +2)
x

2) v

—+2 =logx (logx +2)
x

3) ¥
——2=logx (logx —2)
x

4) vy

—+2 =logx (logx —2)
x

Ques # :51

The equation of plane, which is parallel to straight line

D 2x + 3y + 4z = V29
2) 3x + 4y + 5z = 5V2
3) 2x +y—2z=3

4) 2x —y+2z=3



x—2 y—-3 z—4 -
gLl @ — == - & GHAETAY GHT $HT FHHoT g
D ox43y+4z=429

2)  3x+4y+5z=5V2
3) 2x+y—2z=3
4) 2x—y+2z2=3

Ques # :52

2x +py+6z=8;x+ 2y + gz =5 and x4+ y + 3z = 4 are three planes , and

(A) The planes intersect at a pointifp = 2,q # 3
(B) The planes donot have a point of intersectionifp # 2, = 3.

then

1)  only statement(a) is true
2)  only statement(b) is true
3)  both statements (a) and (b) are true
4)  neither statement (a) nor (b) is true

2x+py+6z=8x4+2y+qz=53Tx+y+3z=4 dd TAdA ¢ 3R

(A) =TT AT U fdeg W Fid=ag #Xd § TG p # 2.9 # 3
(B) =il A #1 we off idedg Tovg w181 & IC p+ 2,9 =3

ad
) Fadsud (@) @@ E |

2)  FAAFUT(b) FIE|

3) g ®U (a) 3R (b) T E|
Y AN FUT (a) ATE (b) T E|

Ques # :53
The Origin is same for the two systems of rectangular axes. If a plane meets the axes at
the distances a, b, c and a’, b’, ¢’ from origin , then -

D at+b+c=a+b +c
2)



1 1 1 1 1 1

—+—+—=—+— —
a b ¢ b’

3) 1 1 1 1 1 1
—+b—2+—=—+b—,2+—

V@4 +ct=a?+b? + "

ar g 3T SERT # A g & &1 ¢, I Uh T 3e¢ ASeg

o FHHT: a, b,c U9 o', b'.c q@iﬂi W @Adar ¢, ar
1) a+b+c=a+b 4+

2) 1 1 1 1 1 1
-4 —=—4—4—
a b ¢ U L

3) 1 1 1 1 1 1
_+b_ﬁ+_:_+ﬁ+_

4) G,-I—EJE-I-C :a.rz_l_brz_'_crz

Ques # :54

log(1 + x3)?

lim -
x—0 sin? 2x
Iz equal to

1) 0

2) 1

3) 1/2

4) 1/4

log(1 + x3)?

lim
x—=0 sin? 2x
W 8-

1) 0

2) 1

3) 1/2

4) 1/4

Ques # :55



The function f(x) = is defined in (—c0, c0), and

x—|x

(A) f(x) is continuous for all x = 0
(B) f(x) is differentiable for all x = 0
then
1) only statement(a) is true
2) only statement(b) is true
3) both statements (a) and (b) are true
4) neither statement (a) nor (b) is true

woiel f(x) = —— (—oo,00), 3 IREIG & 3R

x—|x|

AT x>0 & ®F fx) Iad &
B) @M x =0 & R f(x) TP T ¢ |
dr,
D Saa e (a) aT |
2) Fad U (b) G E|
3) 2 U (a) 3R (b) T
1) AT A FUT (2) ATE (b) T E |

Ques # :56

if f(x) = [ xe*dx, then

Zf(xj; neN

isequal to
1) g 2
(=)
2) e
1—e
3) e
(1—e)?
4) 1




T f(x) = [xe*dx , dr

Zf (x); neN

W & -

V)

2) e
1—e
3) e

(1-e)?
4) 1
e(l—e)?

2

Ques # :57

52
if [ —7a

1) 1
2) 5/2
3) 7/2
4) 3

] + ¢, then ab is equal to

L3/2
EIJI_EI f x7/2 +x6 d

1) 1
2) 5/2
3) 72
4) 3

xb
xb]+c dl ab sTET -

Ques # :58

1[fx) -2 gX)
T2l g fO)-2

Ifmatrixﬂ=[i ] U{xilandz , then

f‘g{ x) dx is
fix)

D logle* + e ™| + ¢
2) logle* —e ™| + ¢



3) logle** — 1|+ ¢
4) log|ll —e**| +¢

afy sregg A= ] ,D{xilaﬁ-{zi_zzg[f(ﬂ—Z g(x) |

gx)  flx)-2
g(x)
(%) 4 B}
ar ff{x] e
D logle® +e™™| + ¢
2) logle® —e ™| + ¢
3) logle** — 1|+ ¢
4) log|l —e**| + ¢
Ques # :59

If f(x) = [x?]is defined over (1,2), where[ ]is greatest integer function then its

integral is equal to

1) 2
2) 7
3
3) 5—vV2 -3
4) 5+V3+42

afy f(x) = [x?] 3=a@rer (1,2), & aRefea § st [ ] sifeas e wee

&, ol SHHT gATEo &L & -
1)

3
2) 7

3
3) 5—v2 -3
4) 5+3+2

Ques # :60



If f(x) —sinx = A J'Uwz sinx cost f(t)dt and

(A) f(x) = 2 has a real root when Ag[1, 3]
(B) f(x) is decreasingin [0, E] when 4 = 2,

then,

1) only statement(a) is true
2) only statement(b) is true
3) both statements (a) and (b) are true
4) neither statement (a) nor (b) is true

I f(x) — sinx =ﬂ,fnw2 sinx cost f(t)dt T
(A) f(x) = 25T U dEdids A & T61 Ae[1,3]
(B) f(x) 3ecRTel [U,E] AEEAT & FET A=2 ,
ar

D) Faer o () TcT ¥ |

2) ¥ FUA (b) FA T |

3) A FUA (a) IR (b) T E |

1) AT A HUT (a) ATE (b) T E |

Ques # :61

if a coin is tossed n times and the reciprocal of probabilty of getting 4, 5, 6 head up are in
arithmetic progression , then n is

1) 120

2) 24

3) 20

4) none of these

Ife T RAFHT n I 35T AT 8 3R 4, 5, 6 TR AT 3mer Y WRRAFA3T F7 Gower FATAT Ao F
%9‘_-n-n%'

1) 120
2) 24
3) 20

4) g q S AL |

Ques # :62



the variance of first 10 even natural numbers is -
1) 33
2) 32
3) 34
4) 20

YUH 10 T THd FEAT3H F7 faemor g
1) 33
2) 32
3) 34
4) 20

Ques # :63

In a triangle ABC , asin(B — C) 4 bsin(€C — 4) + ¢ sin(4 — B) is equal to

1) 0
2) 1
3) -1
4) 2

a1t ABCH | asin(B —C) +bsin(C — 4) + csin(4 — B) & g-

1) 0

2) 1

3) -1
4) 2

Ques # :64

If the equation x* + px? + gqx + r = 0 has the zeros @, 8, then the zeros of the
polynomial equation x* — q:hc2 +prx — % = 0are
D2y
B'y'a
2 @+B),B+, I+ a)
3 ap,Byya

4)
a+£,ﬁ+£,}’+g
4 a B



aiG gHET ¥ +pxi+qgx+1r=0 ?F%alrﬂaﬁ ﬂ,ﬁ,'}’%ﬁa'gﬂﬁ HIHIOT

X} —qx?+prx—r?=07& YD § -
b afy
B'y'a
D (a+p)B+7). G +a)
3 aB,By.ya

4) a
a+E,ﬁ+£,?+—
Y o

B

Ques # :65

in an examination , 10 multi-choice questions with 5 alternatives were asked. how many candidates
out of 1000 will pass the examination with 40% marks , if they answer at random.

1) 200

2) 160
3) 188
4) 88

T qET A, 5 Rt arer 10 e gea 98 1= | 1000 A @ Fraar rswedf 40% 3 & @rer 3elior

2 IRt § T Rew T A Seavda ¥
1) 200
2) 160
3) 188
4) 88

Ques # :66

The number of real solutions in second quadrant of the equation

SINX CO0SX COSX
COSX SINX Co0SX
COSX COSX Sinx

=0,is

1) 0
2) 1
3) 2
4) 3



SINX CO0SX COSX
COSX SInx Cosx
COSX COSX Sinx

iR =0 & gfadm aqufer F axdfas gar #

TEAT -
1)
2)
3)
4)

W — o

Ques # :67

—5
d is any vector. b and ¢ are perpendicular unit vectors , then

is

1) a
2 -
) b
3) z
Y h+¢

d #% gieer & | b 3R ¢ oodad =S AT &, a

b x¢é
s
1) a
2 .
) b
3) 2
) b+¢

Ques # :68



fd=i+2j+3kandb=XiX (axi),then|b|is

1) Zm

2) m

3) 2411

4) m

A d=i+2j+3k I b=ix(@xi), a |b]| &
1) Zm

2) m

3) 2m

4) m

Ques # :69

If z = x + iy, then the equation |2z — 1| = |z — 2| represents the equation

1) %2 _|_},2:5

2) y*=4x

3) x2 J,z
—+—=1
9 4

4) X2+y2:1

AMG z =x + iy, dl AT |2z— 1| = |z — 2| 9GRld T & -

1) x> +y2=5

2) yi=4x

3) xz .}IE
—+—=1
9 4

4) %2 _|_},2 -1

Ques # :70

The points (a,0), (0, b)and (1, 1) will be collinear if
D) a+b+ab=0



2) a+b=1

3) 1_|_1_1
a b
4) ab=1

85 (a,0),(0,b)31R (1,1) TAyE™ gRr I -

1) a+b+ab=0
2) a+b=1

3) 1+1_1

a b
4) ab=1
Ques #:71

The angle between tangents at those points of the curve

x =t>+ 1,y =t*—t— 6atwhich itintersects at x — axis, is-

U sani(2)

29
Y +tan™! (i
o 29
Y,
49
Y +tan™! (E)
o 49

@b x=t’+1,y=t>—t—6 & 3 fdeg3l W T9=T WW@ET & HT HIOT
g1 g x — 37aT ol FIedl &, &-

K +tan~? (%)
T s (D)
3)

+tan™! (E)
o 49

4)



Ques #:72

If £(x) = x2 + (x2)'°8%"  then f'(2)is

D) 4+41og4 (210g2)
2) 4+ 4'°24(4]og2)

3) 444244 ]og2 +2)
4) 4442202 Jog4 +2)

T fx) =22+ (k)" | ar £1(2) & -
D) 4+41og4 (2 log2)

2) 4 +4'°24(4]0g2)

3) 444244 log2 +2)

4 44 4l982(7 Jog4 +2)

Ques # :73

The equation of circles , which touch x = 0,y =0 and x = c, are

1) 2 2 cz
X“+y —cxicy—I—I:{]

2) 2
x2—|—}r2icx—cy—|—1={]

3) c2
xz—i—yz—cx—cin:D

4) c2
xz—l—}rz—l—cx—kcy—zzﬂ

x=0,y=03Rx=c, ® T H arel gdi ST FHFT § -

1) c2

x2+y2—cxicy+1={]
2) 2
x2—|—y2icx—cy+1={]
3)



CZ

xz+y2—cx—cyi1=0
4) c2

xz—l—yz—l—cx—i—cy—qzﬂ
Ques #:74

The value of definite integral

JERN ‘
L& 1+tanx
1) T

12
2) T
6
3) TC
4
4) T
2
gRfAa a#reRe
TR
J, . T TR
1) T
12
2) 10
6
3) TC
4
4) TC
2

Ques # :75



1/n

n!
n—=oo \71
s
1) 0
2) 1
3) e
4) /e
n| 1/n
n—=oo \J1
2-
1) 0
2) 1
3) e
4) l/e
Ques # :76

Ifa, b, c,de {0,1}, then the probability that the system of linear equations ax + by =0

and cx + dy = 0 has unique solution, is

1) 1/8
2) 1/4
3) 3/8
4) 3/16

afg a,b,c, de{0,1), a T T TAeT0T PRI ax + by = 0 3R
cx +dy = 0 F AT & glel T IS & |

1) 1/8
2) 1/4
3) 3/8
4) 3/16
Ques #:77

n whole numbers are randomly chosen and multiplied , the probability that the last digit of product
is 2,4, 6 or 8 is-

)



4n
107
2) gn_gn
107
3) gn_gn
107
4 10m— (5" — am)
107

n QT TEATHT T A oH T § 7T FT& IO 64T ST & | JOTTH & ATt 3F 72,4, 6 A8
g A oRwar g -
1) gn
10"

2) gn _ gn

10"
3) gn_ gn

10™
4 107 — (5™ — 4™

107

Ques #:78

The area bounded by the curves x = —4y%?andx — 1 = —5y? is
1) 4/3

2) 3/4
3) 2/3
4) 3/2

aF x=—4y?amx—1=-5y% & 9REcy &= %wd & -

1) 4/3
2) 3/4
3) 2/3
4) 3/2

Ques # :79



x—3 y-5 z—=7

The shortest distance between the straight lines N = - T and
x+1 y+1i  z+1 |
7 & 1 °
1
) V29
2) 2729
3
) 329
4) none of these
— _5 —
> ExEZj; ZZTHﬂTx+l:y+l=z+léF q:h%-
1 -2 1 7 -6 1 2
1
) V29
2) 2329
3
) 329
4) SoTH H IS el |
Ques # :80

If f(x) is a function satisfying f(x + v) = f(x). f(v) for all x, yeN such that

f(1) =3 and

if(x]= 120

then the value of n is

1) 4
2) 5
3) 6

4) none of these



e f(x) @F=y f(x +y) = f(x).f(¥) x,yeN I 3H JHR Hse Hdl ¢
daifss f(1)=3

if(x]= 120

ar n & AT -

1)
2)
3)

4
5
6
Y $TH H IS e |
Ques # :81
Area bounded by the curves y = sinx,y = cosx,and y — axis is

1) 1
1 — —

7

2) ‘V{E—l
°) 22— 1)
Y 2 ]—i
a-3)

gl y =sinx,y = cosx,3 y — 3eT aRT IRIGY &% ¢ -
1) 1

V2

2) ‘V'E 1
3

: 22— 1)
4) 2(1 1 J

V2
Ques # :82
. . d®y dy .

If y = sin(sin x), then o ttanx —“is equal to
)y 0
2) sin? x



3) —ycos? x

4) sin x cos? x

. a2 d
qE y = sin(sinx), dr ﬁ—l—tanxﬁ T §

o0

2) sin® x

3) —ycos® x
4) sin x cos? x
Ques # :83

The function f(x)=x® —6x*+12x—4 VxeRis
1) Decreasing for X = 2 and increasing for x > 2.

2) Decreasing for x = 2 and increasing for x < 2.

3) Decreasing in every interval

4) Increasing in every interval

Helel f(x) =x% —6x2+12x—4 Y xeR &-

D x<2 & B grmam 3R x> 2 ¥ R aofome |

Y 22 % R mEEe AR x<2 ¥ R oA |

3)9?3653%3?1%1?)%13
1) gAe ool F O g

Ques # :84

if total frequencies of three series are 50, 60, and 90 and their means are 12, 15, and 20 respectively,
then the mean of their composite series is -

1) 200
2) 175
3) 165
4y 17

A fer ATOrT Y Fror ATt 50, 60, 3R 90 ¥ 3 Favht ATET FHHA: 12, 15 3R 20, A FTHY



HYF Aol FT ATET &-
1) 200
2) 175
3) 165
4) 17

Ques # :85

ifthelinesx +y=6,x—v =2 and 3x + ky = 14are concurrent , then the value
of k is

1) 1
2) -1
3) 2
4) 2

A WY x+y=6,x—y=23R3x+ky=14 @M § aF k & A9 & -

1) 1
2) -1
3) 2
4) -2
Ques # :86

If a,b,c arethe sides of a AABC and 4, B,C are respectively the angles opposite to
them, then

a’ bsin A csind
bsinA 1 cos(B— C)| equals-
csind cos(B— () 1
1) 1
2) 0
3) abc

4) sind —sinBsinC



afe a,b,c, AABC #I SV § dAT A,B,C FHHAA: o1 HaAB & TFHE FIUT §
, dr

a? bsin A csinA
bsin A 1 cos(B— C)| =R -
csind cos(B— () 1

1) 1
2)
3) abc
4) sind —sinBsinC
Ques # :87
The maximum value of ; is
1) e
2) o€
3) _1
e e
4) El,.’e
1
= JATerhdeT A & -
1) e
2) P
3) _1
e e
4) IE.:,l,."e
Ques # :88

If fx) =x(x —1)(x— 2); XE[D,EE] follows Lagrange’s mean value theorem , then

value of cis

D 6 —4/5
6

2)



6

3) 6 —+17
G

4 M

) 6—421
6

e f(x) = x(x — 1)(x — 2); xe[0,7] TSt ARTAA T T AT § ol

FT AT § -

D 6—+/5
6

2) 6 —+11
6

3) 6 — 17
6

K 6 — 21
(5]

Ques # :89

x - 2x
) with respect to tan "t ( ) is

. 2
The derivative of sin~ 1 ( > 2

1+x 1—x
1) 0
2) 1
3) 2x
1—x?
4) 2x
1+ x?

tan ! (i;) ¥ @r¥ar sin~? (li;) F JHTFAT B -
1) 0

2) I

3)



4) 2x

Ques # :90

Distance between the two planes 2x + 3y +4z =4and 4x + 6y + 8z = 12 is
1) 2

2) 4
3) 2/\29
Y 4 /29

oT TAdel 2x + 3y +4z=43R4x+6y+82=12 F AT U ¢ -
1) )

2) 4

3) 2 /729
K 429
Ques # 91

If resultant of two forces P and Q acting at an angle 8 is 21./P? + Q¢ and if they
act at angle 90" — @, the resultant is 19,/P2 + Q2 , then @ is equal to —

T e
S
Y tan~? (%)

e



8 0T 9T FRITT gf gl P and Q & 9ot 21,/P2 4 Q2 § 3R afg o
90" — @ T 9T F FIJ ¢ o gRomEr 19/P2 402 &, a6 R ¢ -

1) (21
tan~ (—)
19
2) X 19
tan~ (—)
21
3) 9
tan~? (—)
11
4) 1
tan (—)
g
Ques #:92

Maximum resultant of two forces is 4 Newton, If they act at 90, the resultant
becomes 3 Newton. Then one of the force is-

1) 1
(2 + —,_) Newton
Y3
2) 1
(3 + —,_) Newton
V2
3) 1
(2 + —,_) Newton
V2
4)

ar aell & 3ffdeas gRomAr 4 =gea § | afg 9 907 @Ior W wR w4 § al
aRoTeT 3 = & ST § | df ST ¥ UH ad § -

1) 1
(2+ ) e
V3 =
2) 1
(3+—,_)F£|t?r
v2/
3) 1
(2+35) e
V2 =
4) 1
2+ ) e
3 =

Ques # :93



A ring of weight w , which can slide freely on a smooth vertical circle of radius a, is
supported by a string attached to the highest point. String subtends an angle @ at the

centre, the tension in the string is —

D 2w asin @
2) 2w sin @
3) , 8
W SIHE
4) )
2w asmz

w AR FT vk gorg , Sl a TSI & FUE IR gd W AqFd T & e
Tehcll 8 , I 3tadd faeg & el g5 Wl & @WeR el g5 & | Tl Fvg |

6 WIUT Tl § of TEHT 7 delE § -
1)

2w asin @
2) 2w sin @
3) , 8
W smE
4) )
2w asin—
2
Ques # :94

A particle of weight w is placed on an inclined plane of inclination a with horizontal

plane. Horizontal force required to keep the equilibrium is—

1) w sina
2) w tan a
3) W COSQ
4) none of these

aifcrst el ¥ o ST FIUT 9 3fF g af W o AR FT TH HOT @M 637 ¢ |
AEATEEAT I @ & o naras afdsr ao §-

1) w sina
2) @ tan «
3) @ COS



4 SR A FIS AL |

Ques # :95

For all real positive values of p
p+l p+2Y .
2 B [E)s
1 —
) Vi [®

2) Vr|(p+ 1)

3) - —
7|

4) - —
7|+ 1)

p ¥ T aEART UAEE F ¥ R
| (2) ()3 -
1) "'-E’TP)

R ’E+ 1)

3) -
Glo
4) g
Z|p+1)
Ques # :96
\ . \ \ d_}’ Yy -1
Solution of differential equation dx T
1) -1 2x -1 2
J=sec” ——=—sec  2x
’ i
2)

s
y = sec[sec ' x + E]

3)

; y(E) = i_ is

V3



T
y = sec[sec™  x + §]

4 i3
) y = sec[sec™x — -]
6
dy _yNyi-1 ey — 2 .
3Taehole FHIEHIOT dx—m@__l,}(z) = T goT ¢
1) -1 21’: -1 2
r=sec !t ——sec™!2x
g V3
i
2) y = sec[sec™lx + E]
T
3) y = sec[seclx + §]
4 T
) y = sec[sec™! x — -]
6
Ques # :97

which one of the following is not a convex set?

)

X={(ax)|x—3=—x2,x,x, =0}

2
Y~ {(am)| % 2 20 < 3)

) Z = {(x1x2)| Xy,% = 1,%; = 0,x, =0}

4) none of these

foer o & Flara ooy saAE@ AL T 2
1
) X={(ax)|x—-3=-x2,x,x, =0}

2
'Y = ()| % = 2%, < 3

) Z= {(xlxzﬂ Xy,%; = 1,24 = 0,x, = 0}

) goTH A IS AL |

Ques # :98

number of generators of cyclic group of order 8 is -
1) 1



2) 2
3) 4
4y 8

8 FH & THIT HHE & ST HT HEAT S -

) 1
2) 2
3) 4
4) 8

Ques # :99

If (G, *)isagroupand a,b € G, thena*x = bandy *a = b have

1) only one solution

2) two solutions

3) infinite number of solutions
4) no solution

afe (G, ) WW%ma,bEG,Eﬁa*x=b3ﬂTy*a=b F orega -

1) $del Teh gol
2) arge

3) 37fed gel
4 IS gl 6T
Ques # :100

If (G, *) and (G,, 0) are two groups, then G; % {e,} N {e;} X G, is (where e, is
identity in G, and e, is identity in G, )

1) {es, e}
2) {e, , 0}
3) {0,e,}
4) @

A (Gy, =) 3R (G, o) A WF B, @ Gy x{e} N e} x G, TR &
(e,, Gy ® dca#eh 3aud ¢ 3 e,,G, & dchA® 3aqd ¢ )
1)



{e;,e}

2) {e1, 0}
3) {0,e,}
4) @
Ques # :101

If H and K are two subgroups of group G suchthat G = H X K and

() Z=K (8) T =

then
1) only (a) is true
2) only (b) is true

3) both (a) and (b) are true
4) neither (a) nor (b) is true

afg H 3R Kk §Fg ¢ & & 390HE ¢ 88 6 = H x K 3K

I
I2

(A) K (B) H

E-

ﬂ—'I/:r:ltz'a

D %ad () @ §|

2)  FHad(b) AL

3 e (2) AR () T
Y aTar () e (b) TTE |

Ques # :102

The solution of the differential equation
y [szeczr[}fz]g + }13] =1In (x2e"")is:

Where ‘C’ is an arbitrary constant.

D secdy?=(nx)?+c

2 sec? y?=12(Inx) + ¢

3) tany* = (In x)* +¢



4) tany? =12(In x)? + ¢

HTHel FHFIOT y [2xsec2Q12]g+}IE]=1n (x%e¥") w1 el § :

STet 'C’ TATo-3Ta § |
1) sec’y? = (In x)* + ¢
2) sec®y? =12(Inx) + ¢
3) tany’=(In x)* +¢

4) tany? =12(In x)? + ¢

Ques #:103

ifvectors A and B are irrotational, then

1) A x B isirrotational

2) % B is solenoidal

o

3) A — B is solenoidal

4) none of these

ofg afeer 2 3RE moffa g, a
D' T xF smoifa &

D T« F qRemedR

3 T _ 7 aReredT

) TAd A RS G |

Ques # :104

b
For the numerical integration of fa f(x)dx, the error expression of Simpson’s 1/3 rule

is

1) 1
(@-b)zh*f"(®); a<i<b

2)



1
(@=b) 7o h* () ; a<§<b

? b) = h2£"(D ; b
(a— ]E (®) ;a<é<

Y (_b]ih‘tf’”()' <Ef <hbh
%30 §) 5 a<g

f:f(ﬂc)dx & HEAIcHS A & o, feaaea 1/3 g\ @ A 9 § -

1) 1
(a—bj§ h*f"(8); a<i<b

2) 1 4 grmr

[a—b)ﬁh f G.’;] ;a<f<b
3) 1

[a—bjﬁ hzf”(E] ;a<é<h
K (—inh“f”’E]- <E<b

7580 §) 5 a<y
Ques # :105

which of the following series is convergent ?

1) i "
vn+1-—+n
2) Gsinn
Z n
n=1
3) =
Z[—l)”lnggn
n=1
4) ilﬂggn
n
n=1
o= AT & & Flad e g 2
1) = .
Vn+1—+n



Ques #:106

fu =+t exp[— (j—;)] , then

6))
ey

1) 1
a
2) 1
a2
3) a
4) a2

1) 1
a
2) 1
a?
3)



Ques #:107
4x®+4x—3
The asymptotes of the curve y = L T are
x?—4x+3
Ax%+4x—3 .
@h y = ———— &I 3ded TI1141 ¢-
xc—4x+3
D = 1,x=3

2) 2x—1=0,2x+3=0
3) 2x—1=02x+3=0,y—4=0
4 x=1x=3,y=4

Ax%+4x—3 )
Gy = —5—— & 3Fled T &
Y x%—4x+43 ¢

1)) x=1,x=3

2) 2x—1=0,2x4+3=0

3 2x—1=0,2x+3=0,y—4=0
Y x=1x=3,y=4

Ques #:108

if (a) the intersection of an arbitrary family of closed sets is closed. (b) the union of finite number of
closed sets is closed. then

1) only (a) is true

2) only (b) is true

3) both (a) and (b) are true
4) neither (a) nor (b) is true

IR (a) I THTE! F1 T TETAs NUROT 0 H9a FHA=TT 11 | (b) TRIEAT Hga Fopoaat
FT WY T HJd AHCAT T ¢ |

D) et (a) & ¥ |

2) ael (b) G E |

3) 25 (a) 3R (b) T E |

Darar @ o) T g




Ques #:109

. 1 _
fa, = 51112—?T + (—=1)™= ; neN then lim a,, is
n

1) 1
2) 1
3) 0

4) oo

aft a, = sint—m+ (—1)""& ; neN ar lim a, &-
1) 1

2) 1
3) 0
4) oo
Ques #:110

if {a,}, {b,}, and {c,}, are three sequences such that a,, < b,, = c,, and

lima, =limc¢, =k then lim b, is

D <k
%) > k
3) —k
4) none of these

I {a,}, (b}, 3R {c,} T 367F7 & TIH a, <b, <c, 3R

lima, =limc, =k a limb, & :

1) <k
2) >k
3) _



Ques # :111

If the sequence {a,, } converges to finite limit @ and sequence {b, } convergesto b
then

a, b, +a,b,_; ... +a, b,

lim
n—o0 T

ls

1) ab
2) ab
n
3) a™h"
4
) (ab)'/n

I SFA {a,,} TF IREAT A0 a F IEEART g6 § 3R sEFA (b)), b
Sl FATTART gidr & . ar

a,b, +a,b,_; ....+a,b,

lim

n—oo T

B -
1) ab
2) ab

n

4

) (ab)/n

Ques #:112

. . 1. 1 1 1 1

The alternating series 1 — 2 + 373 + i S B |

1) convergent

2) divergent

3) oscillatory

4) uniformly convergent



1-3+5-itset &
D sfaard
2) oy
3 Qe

Y uegHRT IfEE

Ques #:113

the theorem proved by the mathematician d-kaning is used to solve
1) Ipp graphically

2) lpp by simplex method

3) assignment problem

4) transportation problem

A N-FH AT ZarT A A 7§ 73T 5 gl F F PRI AT @t @ 2
1) ek Sarmaer T B ST &

2) @ WranHT ) R{egoed [

3) forrcer gEET

4) qRage gHET

Ques #:114

To maximize the objective function z = 2x + 3y under the constraints x + y < 30,
x—y=20y<=12,x<20,y=3andx,y = 0,(x,y) is equal to -

1) (12,18)
2) (20,10)
3) (12,12)
4) none of these

36T Helel z = 2x + 3y & HATUHdA glet & o Iidaesr x +y < 30,

x—y=0y=<12,x <20,y =3dmx,y =0, & 37T, (x,y) WK & -

1) (12,18)
2) (20,10)
3) (12,12)

4) SR A RS G |



Ques #:115

A particle is projected with velocity u in the direction making angle @ with horizon, its
direction will be perpendicular to its own after the time-

1) u
— cosec o
g

2) u
—cos a
g

3) u |
—sin a
8

4) w?
— cos?
g

ST & o HIOT FATT §F UH FOT N u A ¥ WA FRAr Sar § ar ece
TFT 916 3@l TG 39T 99 e & oradad g el ?

1) u
—Cosec o
g

2) u
—COos O
8

3) u |
—sin o
8

4) w
— CO3" O
8

Ques #:116

Two forces P and Q acting at a point are inclined at an angle @ . If P is doubled and Qs
increased by 10 Newton, and direction of resultant remains same . Then the second

force Q.is -
1) (2p+10) newton
2) (p+10) newton
3) (p-10) newton

4) 10 newton



&l 91 P 3R Q #I0T ¢« W % §4 0F Towg W T § | aig P F gl
fopar atTar &, 3R Q #1110 =aca derr Jar &, A aRorE fr Gar
AT F=il Gal ¢ dl GeRT el Q 8 ¢

1) (2p+10) 7T
2) (p*10) 7gesT
3) (p-10) =T
4) 10 7e=T
Ques # :117

The solution of differential equation

. . dvyy |
p? cos? y + psinx cosx cosy — sinycos®x = 0, (’p = E) is -

where ‘¢’ is arbitrary constant-

D cosy = ¢ cosx + ¢”
2 . .
) siny = ¢ sinx + ¢?
3) siny = ¢ cosx + c*
4) cosy = ¢ sinx + c?
Jaehel FHTRIT
. . d
p? cos? y + psinx cosx cosy — sinycos®x = 0, (’p = é) FT &l ©
STel ‘c’ TdTa AW ¢ |
D cosy = ¢ cosx + ¢?
2 . .
) siny = ¢ sinx + c¢?
3) siny = ¢ cosx + ¢
4)

cosy = ¢ sinx + ¢?

Ques # :118



In the solution of simultaneous Differential equations
tdx = (t—2x)dt
tdy = (tx+ty+ 2x—t)dt

The value of yis

1) 1

clet—gt— c,t™2

2) t 1 2

3
) cit+ e, t? + t3

4) none of these

LI9d 3fdehel HETRIOT
tdx = (t —2x)dt

tdy = (tx+ty+ 2x —t)dt

gl Ay @ AW E -

1) 1

clet—gt— c,t™2

2) t 1 -2
3

) cit+ e, t? + t3
Y AR
Ques #:119

fx,v,zeR*; u=x+y+z, v=x*+y?>+z?andw=vyz+ zx + xy, then

gradu, grad vandgrad @ are—

1) orthogonal
2) coplaner
3) collinear

4) none of these



I x,y,zeRY; u=x+y+z v=x+y*+z2andw=yz+ zx+xy,dl

gradu, gradv 3R gradw & -

1) CIIE=ED
2) THETT
3) A

Y ST & IS TG
Ques # :120

if$; =¢ uVv.dr,andS, = Sﬁc vVu. dr, then [ fs (Vu X Vv).7 dS is-

1
) Only equal to §;

2) Only equal to 5,
3) Equal to both §; and &,
4) Neither equal to §; nor S,

g S, =¢ uVvdr, 3R S, =4 vVudr,al [ [ (VuxVv).AdS § -

D' ¥ger s, & |
2) Hael 5§, & T

3 et s, s, F WK
Yo ar s, AT &r s, & S
Ques #:121

fd=i+2j+ 3k, b=i —3j+ 2k, ¢ =j— kandT7 is position vector of point

P(x,y,z) and is orthogonal to d also ¥ X b =b X¢ thenPis

1) (-1,2,-1)
2) (3,0,-1)
3) (-3,0, 1)

4) (1,-2, 1)



A d=i+2j+3k, b=i—3j+2k, é=j— k3R 7 Req P(x,y,2) I
g aRad 3t d Faffas ST TS ar #Xxb=DbXé & a@rpPi:

1) (-1,2,-1)
2) (3,0,-1)

3) (-3,0,1)
4) (1,-2, 1)
Ques #:122

ifn = 0, then f: f:(}, —x)f(x)dydx =

1) b
EJ’ (b —x)"f(x) dx
n a

2) 1 b
—f (b—x)*1 f(x) dx
n—1J,
3) 1 b
_ n+1
e 1—[1 (b—x) f(x)dx

4) none of these

afg n=0,a [ [7(y— 0 f()dydx =
1) b

EJ’ (b — x)™f(x) dx

n a

2) 1 b
mj; (b—X] f(K] dx

3) 1

b
11—|—1J; (b —x)™** f(x)dx

4) g ¥ IS G|

Ques #:123



Four equidistance values U_,, U,, U; and U, being given, a value u,, is interpolated

by Lagrange's formula, so that it may be written in the form

yoi -1, X -D)

U, = Yy + xu, + T 4+ o Au,
f
1) y=1—x
2) y=1+x
3) x=1+y
4 x+y=-1

IR HAGLEL AW U_q, Ug, Uy TAT U, F O Al T 8 UF AW u, &l
Sedare R ST W 38 @r 9oR orar s aar &

iy —1 x(x?—1
uxzyu,:,—i—xul—kwﬂg _1+¥ A%u,
3! 3!
afe -
1) }le—x
2) y=1+x
3) x=1+y
4 x+y=-1
Ques # :124

1 xz }’,"x .
fﬂ fﬂ e dx dy is equal to

1) 0
2) 12
3) 12
4) 1

2
fﬂlfj e¥’* dxdy auet i

1) 0
2) 1/2



3) 172
4) 1

Ques #:125

Asymptotes of the curve
y—x)P(y—-2x)—(yv—x)(y—6x)+(x—5y+3)=0
parallel to the line y — x = 0 are

D y—x—1=0andy—x+1=0

2) y—x—4=0andy—x+4=0

3) y—x—1=0andy—x—4=10

4) y—x+1=0andy—x+4=10

aF (v—x)* (y—20)—(y—x0)(y—6x)+(x —5y+3)=0 F @
y—x=0 & GAMFR Heled TIRMT § :

D y—x—1=0a@my—x+1=0

) y—x—4=0dMy—x+4=0

3) y—x—1=0amy—x—4=0

4) y—x+1=0amy—x+4=0

Ques # :126

with usual notations , which one of the following is true ?
D gny, = A" Yot (ny2)

2) 53}’1,-‘2 =V +3y; + 3 + V4

3 AV=A+T

D (E+1)8=2(E—1)u

AATT TFaa @, A A A Flar s aa g ?

1) n n
& Ye = A J’x+{nl.-’2:]
2)



53}’1;2 =y, +3y; + 3y, + ¥
3 AV=A+V
D (E+1)6=2(E- 1)

Ques #:127

By using Newton —Raphsan method , root of x* — x — 10 = 0, nearerto x = 2 will be

1) 2.132
2) 1.871
3) 1.967
4) 2.098

v Thael fafdr &1 93T d g2, FAROT x* —x —10=0, FT x =2
& dieshe Hel gHIT:

1) 2.132
2) 1.871
3) 1.967
4) 2.098
Ques #:128
d®y d%y dy 2
The particular integral for the differential equation — — —— — 6—=1+4+x"is-
dx dx dx

D 13 N x? 2b5x

9 4 12
2) —x3 . x? 25x

18 36 108
3) , x* 25x

x —_— — — —
2 9

4) x® x? 25x

- _|_ -

3 12 36

d? d? d
3aehel FHEOT — — —— — 6= = 1 + x? &I RIS FHER §
dx dx dx

1)



x® x? 25x
9 4 12
2) —x3 . x? 25x
18 36 108
3) 5 x? 25x
x —_—— — —
2 9
4) x? x? 25x
__|___—
3 12 36
Ques #:129

Solution of difference equation U, ,,— 7 U, +10U,=12-

D u,=C,(-2)*"+C,5"—6-4~

2 U,=C,2*+C,5% +6-4%

3

) U= €2+ Cy(=5) 4 6-4%
4)

U,=C,2* + C,5° — 6- 4%

e THEOT U,,,— 7 U, + 10U, =12.4* FT gl § :
D u,=C(-2)*+C,5"— 6-4~

2 U,=C2*+C,5*+6-4%

3

) U= 2% 4 C(=5) +6- 4%
Y U,=C, 2% +C,5 —6-4
Ques # :130

Solution of difference equation
Ux+3_ 4‘ Ux+2_ 1? Ux+1_+ 60 Ux: U

is-

Dy —C(=3)* +C, 4% + C,(=5)

2)



U,= C;3* + C,(—4)* + C5(5)*

D Up= C(=3)* + Cy (—4)* + C; (5)

4 U, =C,3" + C,4% + C,(=5)*

el FHIRIOT
Ux+3— 4‘ Ux+2— 1? Ux+l+ 60 Ux: 0

T B b
D U= € (=3)* + C, - 4% + C5 (—5)*

2) U, = C3% + Cy(—4)* + C,(5)*

D U= € (=3 + Gy (—4)* + C,(5)

Y U =C,3* + C,4% + C,(=5)*

Ques # :131

out of following, which statement is not true in context of ""nature of mathematics' ?
1) in mathematics abstract concepts are explained.

2) mathematics has its own language.

3) in mathematics, area of generalization is broader.

4) mathematics is not universal subject.

Rl # & Sl werer o 1 wpfy & weateya g &
D) a1fora  3reqc weaat dr sarear Hr A

2) arfore o 319y ST gl

3) 1O 3 ATATATTHTT T 817 AT BT & |

4) 37T ST S Farwer 7t 3

Ques # :132

out of the following which is the main aim recommended by national curriculum framework 2005
for mathematics teaching ?

1) developing children ability for mathematisation.
2) developing children capability for arithmatic.

3) developing ability to solve algebraic problems.
4) developing ability to solve geometrical problems.



frrafaf@a & & slaar & qregrat TRET 2005 F GaRT genfaa afora Raor FrAeT I8w P ?
D) arfordiertor & AT arere! &1 Jegar &1 @

2) 3ipaTfOTcI &THT ol STeleh! & faerrg

3) Srereriorca GAEAT3 1 gl HieT ST AeTdT T G

1) ST GAEAT3IT Y gl e T AT T AT

Ques #:133

" the progress and the improvement of mathematics are linked to the prosperity of the state " this
statement given by whom ?

1) napolean
2) dutton
3) leibnitz
4) plato

" AITOr Y It TUT R A2r Y WFToeTdl @ WA Trea § " TE FUT hAF GaRT FeT 34T AT ?
D afergs

2) gesy

3) qaferst

4) creY

Ques # :134

from the following, in mathematics teaching we mean by ' oral work '
1) working with pronounciation

2) memorising tables through recitation

3) solving questions without paper-pencil

4) memorising solutions without writing

o & @ 1fora frevor F ' AfQw FRb ' w3t -
D) searor & @ & e

2) JFTaTeIe SaRT UgTS AT, el

3) T=1T FRTSI-OTeHeT W21 &Y §oT el

4) T3 g gl T 1e; healT

Ques #:135



from the following the role of mathematics teacher in mathematics club should be
1) president

2) secretary

3) counselor

4) none of these

Frstifiver & @ fOTer s 4 ATFOYCT Rveres Y sy @Yol TR
D) 3reey

2) g

3) wraierar

4) 513t q IS AET

Ques # :136

out of following which teaching method has the goal of generalisation with help of students ?
1) inductive method

2) lecture method

3) general method

4) synthetical method

faaifara F @ v et R &1 Trar R i werrar @ aHe=iaor Famr g ?
D) smereercHs A

2) sareane faf

3) gy fafyr

4) Feeronens fafer

Ques # :137

out of the following which is not the characteristic of collaborative assessment for inclusive
classroom ?

1) focuses on abilities, strengths, and needs of learner.

2) assessment is continuous process.

3) student should be viewed as passive recipient of assessment.
4) focus should be on the learning process.

At @ A & Siaar A2 Fa1 FaT & AT FgAMcAS el H [FATATAS & 2
D fyeznfiat $r Qreganait, sTadmsit, snaegeansit i) a1t Fiegd e |

2) 3ferctsT Tk Tdd ITshaT B
3)




ot & 31iehelet T TSR dTet aTel & &9 7 &= A1 Y|
4) 1R ITHAT IR TN Fiegd HLT AR

Ques # :138

according to report of " focus group on education on children with special needs'" under national
curriculum framework 2005, maximum number of students in class should be, which have children
with special needs also with general students -

) 15
2) 20
3) 25
4 30

TS YTSTAAT Y TRET 2005 F et "fAAT AraeTwvar arat Tl F fAT 970 710 Hlwd qog”
1 RIS F 3re7ar Y e st ames & ary Rfdrse sraegsar ara a2 ot g) iy @

fFaa gEar g aifiRv |
1)y 15

2) 20

3) 25

4) 30

Ques #:139

from the following , which is not representing change in behavioural terms in classroom objectives
9

1) recall

2) recognise
3) understand
4) calculate

fAFifha & ¥ FaT1 HaT 32241 & YFERIT Uel H IRad= # yfafAfcg At war g -
D) yeamesror

2) g

3) 3raaer

4) FrurTar

Ques # :140

who propounded " heuristic method " ?



1) frobel

2) kilpatrik

3) bertrand russel
4) h. e. armstrong

' EaRfees Ry  #1 free R B 2
) g

2) freufes

3) gz @

1w, & 3merEcET

Ques # :141

out of the following 'geogebra’' is a
1) a branch of mathematics

2) a software to teach mathematics
3) an education of mathematics

4) a teaching model

fawsTfha & & sarster (geogebra) -
D) ues arfore &r emar

2) 3101 JoTet & ToIT U AlFedX
3) we T1fore T fRreTw

4) we RIeTeR wfaATT

Ques # :142

which of the following may not be the cause of backwardness in mathematics -
1) physical handicappedness

2) mentally handicappedness

3) emotional maladjustment

4) poverty

fAwfea & & Fiaar a0 & ReS g F71 FROT 7€ & T |
1) enfiftes faeretieran

2) A1 fashetiarar

3) HTaeITcHS AT

4) rrdy



Ques # :143

out of the following which is the main function of teaching aid
1) maximum use of sense organs

2) create attraction

3) saving time and energy

4) solving the problem

farifera 7 & Hlaar Rers aft FToq@ FAE
D) At &1 srfeda sagier

2) eq7eT TR T AT

3) gAY G Sl AT

4) JETIT Y g HAT

Ques # :144

from the following a low cost self made tool from local surroundings to teach mathematics
effectively is called -

1) improvised teaching aid
2) improved teaching aid
3) diagnostic teaching aid
4) remedial teaching aid

e & & werraqut &1 & A0 Yo & AT Fa @, T GaRT W U1 & I1ATE0T § T
I IYFHIOT Fl Fgal -

D) smeRfRret fovarer wmeeft

2) gerd g5 Rvareh areaf

3) RrereTTeHe faTer gl

) ITaRTcHS 8T |

Ques # :145

which of the following task is the most suitable example of evaluation of psychomotor domain-
1) to derive the formula of profit

2) to construct the quadrilateral

3) to prove a trignometry equation

4) to factorize algebraic expression



fFFifhe & @ S T F AANICUTHS 817 & HodideT H1 HaTS IT4Fd SEERTE -
D) 3t & 1 edeet

Ques # :146

out of the which option the diagnosis 'dyscalculia’ is not possible-
1) achievement test

2) daily observation

3) diagnostic test

4) physical test

frifra # ¥ frw ReeT garn Redes o w1 e wara g §
1) sqerfeer gdveqor

2) &ferep 3aeliehet

3) fRrgreTTeres gdaToT

4) miiRes wdretor

Ques # :147

out of the following which in the currect order of teaching and evaluation process- a-teaching , b-
achievement test , c-diagnostic test , d- remedial teaching

1)

a—hb—-c—-d

2)

a—=c—=b—d
Na-sd-b-c

Y a-scod—b

forerifra & @ § et -Ferehet 9fHAT 8 WE A M- a- TRAGTH, b- SUefors qhafor, c-
fAeETcas qdiaTor, d- SYARICHS RI8Ts
1)

2)

Dasd-b-c

a—=b—-c—>4d

a—-c—b—d



Y a-scod-=b

Ques # :148

as per Kkirk, the iq of slow learner is approximately

1) 75-79
2)  70-89
3)  70-79
4) 7590

ford % 3reTaR ol 91fY & W aralt Hr giy afer e & -
1) 75-79
2) 70-89
3) 70-79
4) 75-90

Ques # :149

which is most appropriate use of gifted children in mathematics class
1) monitor

2) to teach class

3) as a resource in class activity

4) to checking of copies of other children

yfasTTITelY aTeret &1 1O Y FaT # waiftF 3udead 39T e w0 7 T s aFar g
D) FAreiex (et rerh) & 9 7

2) STl ggTet 3

3) spemr arfafafeat & gars S wq

1) 317 goar Hr iy AfFT F

Ques # :150

which of the following is the correct order of the development of an achievement test- a- blue print
preparation b- question paper constructions c-test administration d- item analysis

Dasbosc—d

2) pboa—-d-—c

3) c—=a—-b—-d

4)



b—-a—-c—>d

fre=ifera # & Flar v 3qaterr qdiaTor & AT 7T 70 FA ¢ - 2- s Riee IR F&Tb- AT 7
AT FIEAT -9 I T FUTHA FIAT d- I faeeryor

Dasb-scod

2) b-a—d-c

3) c—-a—=b—-d

4 b—-a—-c—d





